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s 6,080,490
Zsto=ds 611,800 550,900 60,900
= 61,425
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F=Nd =4 601,800 450,900 150,900
= 61,425
< 92,000
[ia 448,375
2. =i 247,700 263,000 A 15,300
307 21201 A 240,700 256,000 A 15,300
02 QIAFAAFEX 98,400 110,200 211,800
o ZUAFALY 5,760,000& = 501 W& 28,800
o Zatst 29 4,200,000 * 30 WA 12,600
o Hd2s Wt 12,5008 * 720 9,000
o HdUsX g2t 12,5002 * 400& 5,000
o ZetE AL &SI 3,416,666% * 128 41,000
o 3B 24 2,000,000& 2,000
03 SIAtHNHE2IHIEE 56,800 56,800 0
o 233 29| 3,333,333& 128 40,000
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o Zdgn AU 5,000,000& = 23l 10,000
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308 XX EHH SOl A 7,000 7,000 0
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o ZAR0F =LA ANAE 32,850,000 32,850
= 16,425
= 16,425
0PIt 25Es 11,000 11,000 0
o= 5,500
= 5,500
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& 5,500
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& 4,000
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o MOM=EH % HE 7
10,000& = 608 « 53l 3,000
307 i+l & 4,200 4,200 0
05 RIZHRI & 3 4,200 4,200 0
o HHYSBN 24HUANL e S|
350,000& = 12& 4,200
401 A& HIZ 201 I 650,000 50,000 600,000
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